

$$\sum \tan^{-1} \left(\frac{1}{n^2+n+1} \right)$$

$$\text{take } v_n = \frac{1}{n^2+n+1}$$

$$\lim_{n \rightarrow \infty} \frac{u_n}{v_n} = \lim_{n \rightarrow \infty} \frac{\tan^{-1} \left(\frac{1}{n^2+n+1} \right)}{\left(\frac{1}{n^2+n+1} \right)} = 1$$

$\sum u_n$ & $\sum v_n$ behaves alike.

$$\sum v_n = \sum \frac{1}{n^2+n+1}$$

↓

$$w_n = \frac{1}{n^2}$$

$$\lim_{n \rightarrow \infty} \frac{v_n}{w_n} = \lim_{n \rightarrow \infty} \frac{\left(\frac{1}{n^2+n+1} \right)}{\frac{1}{n^2}} = 1$$

$$\sum u_n \Leftrightarrow \sum v_n \Leftrightarrow \sum w_n$$

$$\Rightarrow \sum w_n \text{ is cgt.} \Rightarrow \sum v_n \text{ is cgt.} \Rightarrow \sum u_n \text{ is cgt.}$$

$$\sum \tan^{-1} \left(\frac{1}{n^2+n+1} \right)$$

$$\text{take } v_n = \frac{1}{n^2+n+1}$$

$$\lim_{n \rightarrow \infty} \frac{u_n}{v_n} = \lim_{n \rightarrow \infty} \frac{\tan^{-1} \left(\frac{1}{n^2+n+1} \right)}{\left(\frac{1}{n^2+n+1} \right)} = 1$$

$\sum u_n$ & $\sum v_n$ behaves alike.

$$\sum v_n = \sum \frac{1}{n^2+n+1}$$

↓

$$w_n = \frac{1}{n^2}$$

$$\lim_{n \rightarrow \infty} \frac{v_n}{w_n} = \lim_{n \rightarrow \infty} \frac{\left(\frac{1}{n^2+n+1} \right)}{\frac{1}{n^2}} = 1$$

$$\sum u_n \Leftrightarrow \sum v_n \Leftrightarrow \sum w_n$$

$$\Rightarrow \sum w_n \text{ is cgt.} \Rightarrow \sum v_n \text{ is cgt.} \Rightarrow \sum u_n \text{ is cgt.}$$